M Shift PI
mountS with thege. IfMJGI@)
three bolts J/ /4

PowerFlow =
PowerFlow EFI or Shift Bracket
Setup 02-6187
Mercury EFI or Shift Bracket
1/4-20 X 3/4" 02-6186

Drill Mercury
Shift Plate to
fit 5/16" Bolt

5/16-18 X 3/4"

1/4-20 x 3/4"

5/16-18 X 3/4"

02-6187, 02-6186 EFI or Shift Bracket is sold as
a kit including all items listed below: bolts, nuts
and washers can be purchased seperately

02-6186 02-6187

Item Description Qty Part Mumber
1 S/S PowerFlow Bracket 1 02-6187

1A S/S Mercury Bracket 1 02-6186 510 East Arrow Hwy
2 Black Alum Plate 1 02-6189 San Dimas, CA 91773
3 5/16-18 Hex Head Bolt S/S | 2 | 08-010705061 (800) 899-8058
4 5/16-18 Nylock Nut S/S 2 | 08-080708001 (909) 592-6162
5 5/16" SAE Washer S/S 4 | 08-120700001 www.imcomarine.com
6 | 1/420 Hex Head Bolt S/S | 3 | 08-010604061 info@imcomarine.com
7 1/4 -20 Nylock Nut S/S 3 | 08-080604001
8 1/4" SAE Washer S/S 6 | 08-120600001




	Sheet1
	Drawing View2
	Drawing View3


